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The data set represents the number of hours that fifteen students walked during a

two-week period. Q‘_ m,p\
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Des::fibe the shape of the distribution shown in the histogram which displays the
light output, in mens, of various lght sources.
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@Th{' dot plot displays the number of books read by students during the semester.
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number of books read

E& Which measure of center would you use given the shape of the distribution in
the dot plot? Explain your reasening.
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The dat plat displays the number of famities living in different blocks of a town.
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g Which measure of center would you use, given the shape of the distribution in
the dot plot? Explain your reasoning. '
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@The dot plot shows the weight, in grams, of several different rocks. Descnbe, the

terms thaz describe the shape of the distribution. }7 i
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Here is a box plot
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Give an example of 2 box plot that has a greater median and a greater measure of
variability, but the same minimum and maximom values.
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